S-31-2

A flat loop of wire consisting of a single turn of cross sectional area 8.0 cm2 is perpendicular to a magnetic field that increases uniformly in magnitude from 0.50 T to 2.50 T in 1.0 s. What is the resulting induced current if the loop has a resistance of 2.0 .

S-31-12

A magnetic field of 2.0 T exists in the region enclosed by a solenoid that has 500 turns and a diameter of 10 cm. Within what period of time must the field be reduced to zero if the average magnitude of the induced emf within the coil during this time interval is to be 10 kV?

S-31-20

In the figure, the bar magnet is moved toward the loop. Is Va-Vb positive, negative or zero? Explain!























